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M HR
=R DU RN S go

Eel: 2 - 3RS FEX0 2| (eel:ae
SN -3 S2ARAH) - MFAY - BES Ofl & 4 glggi; Hlus2
2 BRMWLS FEX0 2e| 77,438 90, 152 A12,714
Al 40,438
- 37,000
2BR 2e| 40,438 35,942 4,496
Al 40,438
101 21244 18,374 17,044 1,330
Al 18,374
04 JIZHI22RE R+ 18,374 17,044 1,330
O SRUAB2SZT2 2| 18,374
-JIE3(F. 41 52 28
53,1602 x 1«28 x 112 16,374
Al 16,374
-BEE(RUAZ, 08 M4, =AY
16,374,0002 *12.02% 1,969
Al 1,969
- QABEHEHS
16,374,000 *2.82%+6 . 55% 31
Al 31
201 L2 17,264 16,018 1,246
Al 17,264
01 At 22l 17,264 16,018 1,246
O= - BRMerae 15,752
-S> 220,000 *4024 8,800
Al 8,800
- 2SR
500,000,0002 % 11/10,000%2) 33 3,300
Al 3,300
-2HIE 0188 #=+% 50,0002 x524 250
Al 250
- Haze| g8 Pl 1,762
Al 1,762
-O2H EH S ?¢ 175,000 *57H 875
Al 875
-A& 9 SIEH AN S 200
Al 200
-522 73,0002 x524 365
Al 365
—AENA(DXANE) HEHI 200
Al 200
O=2R2 et S 7,0002 x6A1 x3Z x 122 1,512
Al 1,512
202 04t 4,800 2,880 1,920
Al 4,800
01 = 0d bl 4,800 2,880 1,920
O=ZRML AE8 L HEEA 2L
20,0002 *42 x60 4,800




DMt
DS HITHAREE

- SRMLS SEXQ 22

SH - BH - S(S) - NEMY - BES sy e 52
| A 2,800
=SSR M2 a2 & ol =+ 37,000 54,210 217,210
01 £Bt2Ed| 37,000 54,210 217,210
02 32244 37,000 54,210 A17,210
OASAE= Mol =+ 30,000
OZolitHa SHIEI(FX2S tHa) 7,000
HASX @ PO HA M 1,044,776 768,971 275,805
= 15,000
T 1,029,776
EALAI & 2te| 573,161 590,457 A17,296
201 YEre gt 361,331 379,627 A 18,296
01 AR 2telH] 2,780 3,080 A 300
OHEMAMZEEB I+ 580,000& =13 580
OBAMN HAEA JAIEMN =2
600,000 *13! 600
O=blg HHs Hxs =3 7+
50, 000& *20H 1,000
olzg zAvisH FH 2,000 & *3007H 600
02 23244l 358,551 376,547 A17,996
O .otz 1,200,000& 123 14,400
Od LT ADIA MHES
7202 % 100m «8A| 2t% 100 57,600
O&IIMNEE 18,500,000 122 222,000
OTv==tlg 2,500& «450H =128 1,350
OZNdRg=s 1,500, 000& »23 3,000
CQusSREREE=S 3,500, 000& %13/ 3,500
OS AL EIIEAM =2 450,000 * 12 450
OREAH S 7 X 49,381
-—=2,23,F28lEH 43,446
—g2 5,935
Oz+93 B2 2,550
— &gt 200,000 *6IH A 1,200
— OfEHD| 150,000 *9H £ 1,350
O7glg AdHEZE |AA(ZZS UM, B)
50,000& 122 600
OFAM AU 9| 310,000& 128 3,720
206 M= 4l 12,780 12,780 0
01 T 2 4l 12,780 12,780 0
St 2™ 2 4,000& *240kg 960
O20IZ3tx AFMHM 7+
4,000 *100kg* 12 4,800
OstEA NEM & ZetH 7 7,020




DMt
DS HITHAREE

D EE FARA & A

| A HIS

SN EE - ER(EN) - NRAY - BaS sl Bl HlRE2
0 & 24
— 2kl 7,500 x3304x12& 2,970
- A& 7,500 *4500«12& 4,050
307 2I2toI & 169,050 163,050 6,000
05 BIZtRE 3 168,000 162,000 6,000
O=RE AL EA2(EH| 14,000,000& 128 168,000
06 2= 1,050 1,050 0
OIAAMDHAY HABHS 50,000& *12] 50
OBMF=XE it BEE WHIIRES
100,000& *103] 1,000
401 Al EHIZL 2OHY| 30,000 35,000 /5,000
01 A& HI 30,000 35,000 25,000
O7e&E H2HH(HEYY) v
30,000,000 * 14! 30,000
HEHEEAIE 2tel 157,065 71,565 85,500
201 gEt2dd| 23,685 23,685 0
02 23244l 23,685 23,685 0
Og 22l Atg gl | 100,000& 13 100
Ooe2gd &l 1,800,000& #2721 3,600
Osx=J] 34 & EHY 200, 000& *9CH 1,800
OdzZg 34 & Hi 11,000 #2354 2,585
OdsIl A& & HH 15,000 *320RT 4,800
Ogat 3 )] FH 200,000 «54CH 10,800
206 M= 4l 4,680 4,680 0
01 MHZ 4l 4,680 4,680 0
22 H2H FY 3,600& *280kg 1,008
29 B2H 2 4,200 *360kg 1,512
Od2 Meld 24 45,000 «48 2,160
401 A& HIS 2 CHYI 128,700 43,200 85,500
01 Al£HI 128,700 43,200 85,500
O Z==9sI| WH 12,000,000& = 1CH 12,000
O L= #3agd W 600, 000& «22[H 13,200
O gy BX) B+ 10,000,000& * 14! 10,000
O olgtel sddHE SX0| E=
15,000,000 = 1CH 15,000
O dd+8a M3 W 5,000,000 *4CH 20,000
O 42 sd= WA 8,000,000 = 1CH 8,000
O 93 2x7 2L WAl 15,000,000 = 1CH 15,000
O 239 HE E= 4,500, 000& 14 4,500
O 2882t Wil 7,000, 000& *304 2~ 21,000
O WA wH 10,000,000 *14 10,000
HIIANE 22 148,678 62,478 86,200
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&2 WA FAIRA 2 F2EEHO FHAL MBS (ctel: &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
= 15,000
- 133,678
201 Bt A | 1,878 1,878 0
01 At 2teltl 230 230 0
Od&J|etE2te| X W= fI&Hl  110,000& *13] 110
Ogst2tel A U= & 120,000& =13 120
02 S=2gHl 1,648 1,648 0
OFEA &I LIt X E 1,500,000& *14! 1,500
OdED|etd& 22l A+ &3l 100,000& 13| 100
Ogstate| Xt g3l 48,0003 *13] 48
206 M= Hl 12,000 12,000 0
01 =4l 12,000 12,000 0
OFANHMIIEEZFL (EEE2 128)
25,0003 *12Z *400H 12,000
307 SI2H0| & 6,600 6,600 0
05 QIZtREZ 6,600 6,600 0
ORHMN 2ZALE HIIBY 2
550,000& «12& 6,600
401 Al HIZ 20| 128,200 42,000 86,200
= 15,000
- 113,200
01 A& HI 128,200 42,000 86,200
Oo"lagEI =cl 2,000, 000& 14 2,000
OFAL HI| WA 80,000,000& * 14! 80,000
OFAL €2 LED 1A 30,000,000& *14! 30,000
= 15,000
- 15,000
O&J14 stdlel W 4,000,000& =14 4,000
OFEAMN 22SA W 3,200,000 14 3,200
OFAM H&ZES 4X 9,000, 000& 14 9,000
s el 136, 120 16,120 120,000
201 ZEt2FH| 5,800 5,800 0
02 2324l 5,800 5,800 0
Os&I| HIIEAMN =2 1,000,000& =13 1,000
Os2ZJl !X B= 800,000 +6CH 4,800
307 21Ztol ™ 10,320 10,320 0
05 QI”tRIEZ 10,320 10,320 0
OsZJl XXM ZAH TH 860,000& «12& 10,320
401 A& HIZ 2 CHYI 120,000 0 120,000
01 A& HI 120,000 0 120,000
Ooza 527 uH 60,000,000& +2CH 120,000
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M HR
ST A

=]

tel

Pl ESE Se ANG3dgs (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
-JIEE 15,0003 241200 & 360
-0t 15,0003 *3H =120 2 540
OEL3u=E A== 70,0003 x5 #322] 11,200
OIlA T2 04
236, 7003 422 %1.0055 9,997
Oz N8 AZMER 7Y 16,541
- RAHE 384,000 +3CH=1.0055 1,159
—ClsANHE 450,000 *1CH*1.1 495
-PCE 17,5002 +846CH +1.0055 14,887
ORFHMJAEX(PS)E =X WA
285,000% *40CELL*1.1 12,540
OMSdEHAIAE SSO HHZES 204
5,500, 000& 14 5,500
OSSIIBtAIAZ2 Tl 0K
1,991,000& *4J1+1.0055 8,008
02 SE=2gH| 2,000 2,000 0
O& MuHxIo g WERD =21d |
20,000& 1002/ & 2,000
405 XtHakF SH 250,112 158,246 91,866
01 A&t =S F =8I 250,112 158,246 91,866
Ok= aAFH uA 109,600
- =X 1,000,000 100CH*1.0055 100,550
-2LUIH 300,000& *30CH *1.0055 9,050
OMEE ERSH 2848 £ 58,144
-NH 2= 14,200,000 1CH*1.0055 14,279
-Z2c0IE 25 63,5002 6873 x1.0055 43,865
OkL= UHESZ &bl WA 55,303
—-L4 WA 27,500,000 +2CH +1.0055 55,303
O=0ot USBHIZR2I 2HelANAE =g 27,065
—USBHI 22l 2el M
7,700,000 *141%1.0055 7,743
—-UsBoiZ22l 22l A =20
12,600,000 *141%1.0055 12,670
-2 otUSBI 22l (26b)  45,000& *147+1.0055 6,652
HHHDAAY 29 211,103 205,067 6,036
201 224 133,772 142,401 A8,629
02 3244 133,772 142,401 A\8,629
Oogzesll fA2=H 18,141,000 *6% 1,089
ORZHEAETX KRANE2=Hl 35,480,000& *6% 2,129
OFEESANAY RXNE=E 9,661
— 2 S SHEHI(VPN) 55,623,600 6% 3,338
— E YT AIAE(IPS) 38,610,000 *8% 3,089
- HAXSAIAR(SSE) 46,200,000 7% 3,234
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=R DU RN S go

Cel: HEHE S8 KA 23 (erel: @ 2
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K glgaf; HwsZ
OHL30E 29 3,360
—QEHUWEMAIRR 30,0002 122 360
-®IINEE 250,000 * 128 3,000
OSAVUALZI| B|HAIRR
125,000 *5CH * 128 7,500
ORQIANAZ)| RNB4E 10,697
~BY RX24 60 115,890, 000! #8% 9,272
-ZEY RNBS =)t 104
19,600, 000! *8%/2512! * 1142 +200% 1,425
OBBSUBY FNSLZ 188,660,300 *6% 15,093
OFBSMY SIHASE 10,740
TIPS 21,0008 *15] &+ 122 252
—HEHYRS (Y N, H23DE S)
34,0008 +115] & *128 4,488
- PoAYA(ZEILUMSLY)
500,0002 *15] &4+ 128 6,000
OF EHO0IX SX 24| 10,916
-5t 26,385,0002 *8% 2,111
- 2ZE 73,370,000 *12% 8,805
OZHOIN THQ 42 354
-g2 =l 28,6002 *2JH 58
—st2 cOlQ 74,0002 %44 296
OZHOIX &% =tol NHIA 61,0002 122 732
OMARE L EUTAIAY K S2H]
17,028, 51021 %12% 2,044
OFXZTHAIAE X 24| 13,432
- 2T EF0f 96,000,000 *10% 9,600
— DBWS 31,929,0002 *12% 3,832
OMBOUATBAIAL RX 244 6,000
~ A 60,874,0002! *6% 3,653
~ AT EF0f 23,470,0002! * 10% 2,347
OFMZHI(ZEEH) RS2
509,999, 993! +6% 36,000
O M BB Al AE X & 2H]
17,308, 500! *8% 1,385
OB A ER X b 10,0002 274 A #1282 2,640
403 X+ X EHH S XH2 0 & 77,331 60,026 17,305
02 DI 2SO0l CHEHCH & AR B 77,331 60,026 17,305
OZEIIPAIAE X 24|
740,904, 20021 *7% 51,864
ONZT HHBBAAL ST L4
363,806, 00021 *7% 25,467
H2s0te ZRIeN N (2SS EY) 17,219 15,465 1,754
Al 6,858




S HPD
o a2
CHol: HESE S NAPM U (Etel: &8
_ _ _ N E
SA B G(E) - NEAY - B Abod e HREZ
- 10,361
307 812+0| H 17,219 15,465 1,754
Al 6,858
= 10,361
02 QI A EE 17,219 15,465 1,754
OFRs0IS Z2Ie 22k 2% N 17,219
Al 6,858
2 10,361
NZT BHFBAAY 25 98,253 93,020 5,233
= 26,299
= 71,954
201 2Bre | 98,253 93,020 5,233
= 26,299
= 71,954
01 Ak 22l 98,253 93,020 5,233
ONZT? BHFBAALY S LIt 91,420
= 24,591
= 66,829
OANZT MHAHSPHH 2= 6,833
= 1,708
— 5,125
N5 2845 600 600 0
203 R EXH| 600 600 0
03 Al ER Q@ =T Y| 600 600 0
OFRIYR =N 600
HEs 4 ol 28,000 0 28,000
207 SNl 28,000 0 28,000
01 ¢ g2t 10,000 0 10,000
OFE3 JI=2AHE WaKH 244 10,000
02 & AR Y| 18,000 0 18,000
OZHtY ZHOIX 75 18,000
HHSAZH (L) 82,173 85,358 13,185
D] 82,173 85,358 13,185
122l 82,173 85,358 13,185
201 2Bre | 14,613 14,918 305
01 Ak 22l 14,613 14,918 A305
ORN2YII=42H| 10,0009 %22+ 128 2,640
O=AEX 7 1,615
~MEX 21,0002 +708¢ A 1,470
=N 33,0002 38} A 99
-A3E X 23,0002 x28 A 46
OEU 7¥ 2,966




SN
X XH .
S Tt

el

_ _ _ Muo
M- F2 SR (3) - HIRAY - B e arey e {imE=Eh
-zl 175,000& 154 2,625
—FAXD 88,0002 *2H 176
—=AH 55,0002 *3H 165
OAlzt2l 2 7,000 *4 4] x22H x 128 7,392
202 (44l 63,360 66,240 AN2,880
01 S LHAObI 63,360 66,240 A2,880
OZ L BI 240,000& «22H 128 63,360
203 HR=2 4,200 4,200 0
04 2NM2H 4,200 4,200 0
ORAM2 350,000 «12& 4,200




